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Abstract

In this paper, we use computer programming C to simulate a famous prob-
ability problem “gambler’s ruin problem”. After lots of tests, we record two
players’ winning probabilities and average number of rounds to figure out
mathematical principles behind the problems and derive general formulas for
two values above.

In this study, we have three main subjects. First of all, we design program-
ming C to simulate problems and observe the figures. Secondly, we generalize
our problems and derive general formulas and use computer computing to ver-
ify our derivated formulas. The last part is that we add a new rule for draw,

and derive new general formulas for two values.
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RIS %&gﬁlﬂﬁﬁ"ﬁ 1 (= 21) ?Atl:.‘ii’]@A%lZL_t

<1

2.3.4 fE - SATRRRNRRRZEREFIR SRS

FLEINAFEFRIANT - FRBNESAOT - eSmEka0nI0ET - B—HEEFRES

B BolENE T Hh =R AN RI S p g B p gt r =1
BRI RIS - et —Ik  MEWME 5 RItR A FE m
TC IR B 5B n v AMHPAIEK 0 BIITR B {8ITR A —Ju 0 EIMPEEK - 8l
&K A IR B —7o SHETHREK ) AIRRTRE  BEErEHERETEEIA
—HWRERLL - PR EEAFRNEREREE  EHEE A() EIRETHESE
ke N A(i) KBERHRIIAG 2 HINEBEUT
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"'%k-llil %k[ﬁl

4 (+1) Ar(1) =rAk1 (1) + qAx1(2)
4.0) }Ak(i) & QA(n) = pAa (i = 1) + 1A (i = 1) + gA,q (i +1)

A ,(i-1) Arm+n—1) = pAr_1(m+n—2)+rA_(m+n—1)
i=2,3,...,(m+n—2) RIEER 1§ Ar(i) QIRERIEXER—E m+n—1 B
F5hE M o EITEEER kRS ME T

Ax(1) roq 15707 [ A1) ] [0]
: poro s z ;
Ay (m) = r 1| - VRIS Ag(m) = |1
: o : : :
| Ax(m+n—1)] L p r | |0O] | Ag(m+n—1)]| 10]
(30 22)
EFCRRYSRE M X el mafE S BN FZean A
0 ¢ T
p 0 q
p +r lyyna
0 ¢q
i p 0 ]

TP M Z B —{E 75 bEmlir R RIIRES OB P o EIL(HER EEFR SR A1l
27358 EERIER] 1S

Zq\/gcos o 0

Zq\/?COS 2n
M=U g U™+ 1Ly

m+n—1)7
Zq\/7c0s T

EEP%IJﬁH r- Im+n1 =Uu- (1’ . Im+n—1) . u_1 Eﬂtﬂ%ﬁ%gﬁ1ﬁ7\ (ft 22) 'ftﬁéﬁ ’ E_H%
W

Ak.(l) ] <2q\/gcos e r)k 0 _9-
Akém) _u (qucos o +r) U1 1
| A (m . D] (Zq\f cos Uy )t o

EMRLERE  WRERRIAEAMIERIEEE] k€ N A(1) B8 Ay(m+n—1) 218
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1-m

e 2 (p\T g omejm P jm ¢
Ar(1) = ; - (q) s1nm+nsmm+n<2q\/;cosm+n+r>

]

Ar(m+n—1) = Wi_l 2 <P>

i m—+n \ g

, . : k
-sin(m+n 1)]nsinm I (Zq\/?cosw—i-r)
m+n m-+n q m-+n

’féEPTL,{é’*IE?‘JtH&HjEﬁﬂﬁfﬁZF%E@iﬁ}ZMﬁnEﬁ A1) B Ag(m+n—1) Z
TSR - REXFHRM 2, /7 cos T WAL zq[ cos m+n+r,

HEARE_ EE S AR ZAIEE S0 (20 20) B2 (0 21) B9 Zq\/j cos ;5 BULAL

Zq\/g cos 05 + o (BRI ENHEH B AURBI A R R R BT m S B — R
AN
1. MERFAIEERZ —GE

s +p Y 2 (2)

a m+n \ g

. (m+n—-1)jn . m-jr zq\[cosm+n
-sin sin
m+n m+n 1—(2q\/;cosm+n+r)

hiy

m+4n—1
2

—m

m+n—1—m
2

(z0 23)

D Bm=m+n—1
H o(m) = {” .

0 B#m+n-1
2. FEISHz—HE :

m+n—1 ; i
d(m) + ]; min(p) 2sin LSS P

R )

(=X 24)

g m=1
Hep §(m) = gAg(1) + pAgim+n—1)=< 0 '1<m<m+n—-1 °
p m=m+n-—1
B EISFE R BINEESE E’JTuuH)J%%ﬁai‘uEﬁZi%‘EﬁE'l‘ﬁE » I FETH By EE B AR R E
ERIESRIE LUK » BRAER B R BB L RERIA LIS HRIRE 2
B BEEEHEE -

18



3 FARER

3.1 LIBEISEMESRSG p Eq - IRBBDES m B n B :

LR —ERR ZER A SR AEKEAIE 100 )X 0 &R 1,000,000
B XSRS RESISERE L » Wigs 10 )X ~ B 20 )X ~ -~ ~ B 100 )%
AOFIGECIRTEN T TXT &9 H{EERECHR » BEET 100 XAOFEIIEASMIT
R 2 MR 5B BEHE » BHEEEHEE Mathematica @ HEEEBEARY
L BIRARIEERET (2 20) EBFHEEEEEDR (R 21) ' STEERRRRS
BSOSV IER(E - RES BINERME IR RERIE N RSP - &
LB RRE 2 IR EMEIEEES e EEEE -

BB p= % g = % v m4n =8 HEEIRVBEEEL : 1000000 5 EIEDREL : 100 X

EisiErlig H R EIEEHE LB (20 20) B2 (30 21) SHEHRVIERE

A% | BE | AR | BR | 79 | AS | BE | AR | BR | 79
55 5 e | X | O 55 55 MW= | xR | O

0.0039 | 0.9961 | 2.9064 0.0039 | 0.9961 | 2.9059

0.0118 | 0.9882 | 5.7183 0.0118 | 0.9882 | 5.7178

0.0275 | 0.9725 | 8.3414 0.0275 | 0.9725 | 8.3412

0.0588 | 0.9412 | 10.5884 0.0588 | 0.9412 | 10.5882

0.1215 | 0.8785 | 12.0833 0.1216 | 0.8784 | 12.0824

0.2471 | 0.7529 | 12.0706 0.2471 | 0.7529 | 12.0706

N[O |G |W|N|~
I W[k |00
NN |G |W|N| =
RIN Q[0

0.4980 | 0.5020 | 9.0470 0.4980 | 0.5020 | 9.0471

%_

BB p = % g = g s m+n =10 7 IERAVEEBEL : 1000000 5 ~ BIEHXEL © 100 )X

BisiEt i EiERE LUBR (= 20) £2 (= 21) SHEHRERE

AZ | BE | A% | Bm | V39 | AZ | BE | A% | Bm | F

3 i3 B | ek | @I {753 15 B | R | @I
1 9 0.0088 | 0.9912 | 4.5605 1 9 0.0088 | 0.9912 | 4.5588
2 8 0.0221 | 0.9779 | 8.8991 2 8 0.0220 | 0.9780 | 8.8971
3 7 0.0419 | 0.9581 | 12.9044| 3 7 0.0419 | 0.9581 | 12.9044
4 6 0.0717 | 09283 | 164172 4 6 0.0718 | 0.9282 | 16.4154
5 5 0.1164 | 0.8836 | 19.1836| 5 5 0.1163 | 0.8837 | 19.1818
6 4 0.1834 | 0.8166 | 20.8314| 6 4 0.1833 | 0.8167 | 20.8315
7 3 0.2839 | 0.7161 | 20.8092| 7 3 0.2838 | 0.7162 | 20.8061
8 2 0.4348 | 0.5652 | 18.2660| 8 2 0.4346 | 0.5654 | 18.2680
9 1 0.6609 | 0.3391 | 11.9592| 9 1 0.6607 | 0.3393 | 11.9608

*x—
Llp=%-g=3% m=3 n=714AH EEKEXETIHF K=
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RAERSIRAERE L nJEEREmAERE IOl S AR 7 E e Vs E A e
HER9E L (BERER] 10 JRZER] 100 XIOFIEIFEANFE TXT 18 SRBFIHERE
ZREUREGHA > BT IERE  BIET 100 XASRATFIIE ¢ 0.0419 ~ 0.9581 E2
12.9044 L (£ ) RIEmESZIER) -

3.2 IR EUURAD ) IMAFEHER

FlLtHRBRE=—EETTFRZERBM  BERETS VRN —E - MIEmRERE
% BIRER(EREZEEEE Mathematica @ EEBIRENZES BIRARAIERE
0 (U 23) EBIRISGEET (T 24) » FTEHMITERm I HRET GO S RAIER
8 &RESSRERERERERIENFRPHICE > JUPRBREREREIFEM
R EZEERE °

BEEG p=Lr=29q=2 m+n=8>
TERRH0BES 2L : 1000000 /3~ SBIEERES : 100 )%
BRI R I EIEEEHE LUE=t (=6 20) 2 (= 21) SHEHAIERE
£ | BE | AR B & ¥tg | AZ | BE | AR | BR E1g
5 {5 e | HEeER EIE 5 3 e | HEER EIEY
1 7 0.0003 | 0.9997 | 2.9931 1 7 0.0003 | 0.9997 | 2.9926
2 6 0.0012 | 0.9988 | 5.9718 2 6 0.0012 | 0.9988 | 5.9708
3 5 0.0040 | 0.9960 | 8.9068 3 5 0.0040 | 0.9960 | 8.9050
4 4 0.0122 | 0.9878 | 11.7090| 4 4 0.0122 | 0.9878 | 11.7073
5 3 0.0369 | 0.9631 | 14.1161| 5 3 0.0369 | 0.9631 | 14.1146
6 2 0.1110 | 0.8890 | 15.3393| 6 2 0.1110 | 0.8890 | 15.3366
7 1 0.3333 | 0.6667 | 13.0031| 7 1 0.3333 | 0.6667 | 13.0024
ilé_
BRIt p=5r=39g=4 m+n=10"
TEEFHIBESEL © 1000000 3 © SEIEEIRES : 100 )X
BN R A SRR E LoE=l (=6 20) 2 (= 21) SHEHRIERE
AZ | BE | AR B & ¥t | AZS | BE | AR | BR E1g
5 1 e | MR EIE= i3 55 e | HEeER EIEY
1 9 0.0010 | 0.9990 | 4.4566 1 9 0.0010 | 0.9990 | 4.4560
2 8 0.0029 | 0.9971 | 8.8697 2 8 0.0029 | 0.9971 | 8.8681
3 7 0.0068 | 0.9932 | 13.1932| 3 7 0.0068 | 0.9932 | 13.1920
4 6 0.0147 | 0.9853 | 17.3422| 4 6 0.0147 | 0.9853 | 17.3402
5 5 0.0303 | 0.9697 | 21.1375| 5 5 0.0303 | 0.9697 | 21.1364
6 4 0.0616 | 0.9384 | 242290 6 4 0.0616 | 0.9384 | 24.2290
7 3 0.1242 | 0.8758 | 259152 7 3 0.1241 | 0.8759 | 25.9136
8 2 0.2493 | 0.7507 | 24.7847| 8 2 0.2493 | 0.7507 | 24.7830
9 1 0.4995 | 0.5005 | 18.0234| 9 1 0.4995 | 0.5005 | 18.0220

*x==
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Llp=2%-r=3 g=4% m=6n=42E4AH BEXEKEXETIE
REVERRE L JHRIRAEREYS 04 HE S EETHIEE E R Pt
1t {BERER] 10 )XZER/] 100 JXAIFIIFANFE TXT i5 0 SRBFIOEBEEREIR
B K I IER(E 0 BIAT 100 RERATFISE 1 0.0616 ~ 0.9384 E2 24.2290
2 (R ) PIERETEEE -

4 &R

4.1 BRRIEMEHA(CASERRERBEZHEE
4.1.1 (EERIFE TRIRKRAHREFIOS Hz—RE

FEAMRS  BARERBEZGEGEEE—RIER  BL&B8BXsRA p &
- REBDANEm B HFR p+g=1p #q(BIFRF) 1 <mn <
m+n—1> WAERBBELIERNEZR @ BRI EEEI R ERN A ES
RRINHBHEE B — @ T

1. MEFAIEERZ —GE

min-l 9 m+n1"(m+n—l)7r m-jr | 24 Ecosmjfn
s(m)+p- Y. (P) si J ] ! -
= m+n \ q m+n m-4+n |q 2q gcosmfn
e CECE SO
0 EAmt+n—1
2. FHEEH B -
m+n—1 2 FT’" : i
o(m) + P Tin I gin T
o mtn\q m+n m+n
. p mTM_l 1
(v (2)7) |0 -
1 (1—2q\/gcosm]—fn)

g m=1
Hrh 6(m) = gAg(1) + pAg(m+n—1)={ 0 ' 1<m<m+n—1 °

p m=m+n-—1
4.1.2 JIAFEBIEEF TFIRREAEREIIE Sz —HEl
HHEBHNRAEERABREFBRIER BIEBEDRA p B g FREER
M IIREBDEBEmEBn HRp+qg+r=1"p#g (BIFARF) 1 <mn <
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m+n—1 WiGRBLUERRIZ 2R @ IGERNEHEE 2 ESRETEIE » plIhibHE
BHIMAFBIRZ—MBI T

1. MR —AGE

( ) m+n—1 2 P
6(m)+p- <>
P ]; m+n \q

m4n—1-—m
2

p jn

. (m+n-1)jr _ m-jn Zq\/;cosm+n+r

- SIn Sin -
1—2q\/gcosnf+n—r

m—+n m—+n

o Bm=m+n—1
Hepom)={" 7 :
0> EB##m+n-—1

2. RIS —HHE

min=1 o = ; i
14 Lo JT L me T
o(m) + ]; m+n<q> Smm+n Smm—i—n
( i—1 p . _ 1
g+ (=D r’() ) 1+ : >
q (1 — (Zq\/gcos T —i—r))

g m=1
HA 6(m) = qAo(1) + pAo(m+n—1)=S 0 ' 1<m<m+n—-1 °
p m=m+n-—1

4.2 TeRRERE—AOEIURYRIEE |

EAHARIETEBERE AT REEBEERN » GHRERIER Excel FREE
BRBeRETEIERE  ARIRHEERLE LB ANBE R TS
BIZ > HHIERIRRKE Excel EEN=AREEW IR FIFFZ2MIERE > 4 -
sin(7) {EEZFILIA 1.225148 x 10 FEA 00 & 1.225148 x 1016 S - —Lo&;
KN FREEMBANREE  MIBRIES & 2RI s - Fit
BIERTETRERE S - KUBEENEE Mathematica @ FYTIIIEIE ARRESEETLAY

fegRg e
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5 RIREE

5.1 ERASKAEEARIRRZEEREFIIOSHZRFTAIE

18
FEHENRBRSBRRAINT « LERRMIKATSIUET  B—RaFREkaET
Fark > HPIREERECE# s  Hp t<s<t ' teNH2+1<m+n-1'38
ETHEIRFT SROLLBIRE ps » Loy = ps = 1 BEFRIKAPAOHIIGES 14
ERE—O—IK > ENE 5 BRIR A 158 m 7T iR B 58 n JT 0 AT
—FRIRE1ER s AUBK » BUITER A #1S s 7T IR B kX s 700 BIREEE s AUk
Az i HMPE 0 193k BIRATSE » BESTHEEETEIE —HRERE
ERILE -

I8R EESAZTRIEREM S » EIGERIMRARIIED A() ZBIfER=00T

Ar(1) = poAr—1(1) + p—1Ak1(2) + -+ p—tApq (t+1)
Ap(2) = prAr-1 (1) + poAx—1(2) + - + p—tAr_1(t+2)

Ar(i) = prAka(i = t) + proaAga (i —t+ 1) + -+ pr A (i + 1)
fori=t+1,t+2,..., m+n—3

Ar(m+n—2) = pAx_1(m+n—t—2)

tpaAa(m+n—t =1+ +p_ 1A (m+n—1)
Ar(m4+n—1) = pAy_1(m+n—t—1)

+pi1Aa(m+n—t)+- -+ poAr_1(m+n—1)
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#§ EXEIR R — P 0E M 2B TREE k oxs M AT

Ai(1)
Ax(2)
Ag(i)
Ap(m+n—2)
| Ag(m+n—1)]
_ Sk
po pP-1 - Pt
pr Po P-1 - Pt
. . . . Ap(1)
' ' ' ' Ap(2)
pt pt*l « o P P « o p—t :
pt pi‘—l pit "
= . . : . . Ap(i)
t 71 Y Y “ . Y _ *
e T P A n—2)
: : : | Ag(m+n—1)]|
pt .« e .« . po pfl
pt P o« o e pO i

5 MF AR SETLUEREISIE M 28Rt - BRFR AT 2t ks
RSB - AIEARE T — SR R B0 -
5.2 HiEHPRIFERGIF

FUEEAPIRT LIS LB REGR R —EATREE » (RRILASRA T AEETTT
EERENEE  BBITR A RRAENET » EATBMBAINER p BATEE
RS ¢ REREAETIS AR m REHEETHIFER n- &J
LIFEBRNARHFTUHES BN R R S TIREMINAIESR - RIS m +n 2 L)
KEFRERINSE o PR ERIPMBRIRRRE - LRIEREARZRWERE |

2EZ8HF (Reference)

[1] BAIE (2016) - BINIEERERRESS - BEEBEN+EE " - FRITFRHE
BT ZTRr AR -

2] FFEE © =R - BFE
3] #RrEsk  PREIZZHIE - BHFE

SRANE M o BERB AR
HEMFME M - m—HhR o

a

=)
=}
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[4] BHElE

i - C

[5]

Bdgx - FECHS

#include<stdlib.h>
#include<stdio.h>
#include<time.h>

void main()

{

Elar bl

BRI

Rl

int t,i,j,a,b,r, test_num,x,y,ga=0,gb=0,round=0, n,A[100],B[100],R[100];
float avg_sumA,avg_sumB,avg sumR;

printf("<<gambler's ruin problem>>\n\n");
printf("~~m~~~ e ~m\n") g
printf("RERHHI EE(ENSSSEE) \n");

L dn);
printf("FHEAMRKRE: ") ;
scanf("%d", &test_num);
FILE *fPtr; HEFILES
fPtr = fopen
srand((unsigned)time(NULL));

for(t=0;t<test_num; t++)

{
ga=gb=round=0;
for(i=0:i<nii++)
{
a=x,b=y;
while(a!=0&&b!=0)
(
r=rand()%3;
if(r=1) SRR -
{ -
a=a+l; T LUEFE
b=b-1;
) HIRRRE
else
{ Rl - i
a=a-1;
b=bil; Ve
}
round++;
i
if(a=0)
{
M5 A [
= 1
AR e
ga=gatl;
}

W

TRMEERE L

St

%.41f\n", (float)Alt]/n);
%.41f\n", (float)B[t]/n);
.41f\n", (floa)R[t]/n);

PF((t+1)%10==0)

(
avg_sumA=avg_sumB=avg_sumR=0;
for(j=0;j<t+lij++)

{
avg_sumA=avg_sumA+(float)A[j]/n;
avg_sumB=avg_sumB+(float)B[j]/n;
avg_sumR=avg_sumR+(float)R[j1/n;
)
fprintf(fPtr, $:\n", t+41)
fprint f(fPtr, 41f\n"avg_sumA/ (float)(t+1));

fprintf(fPtr,
fprintf(fPtr,"

S41f\n" ,avg_sumB/ (float)(t+1));
h.41f\n" ;avg_sumR/ (float)(141));

)

)
fclose(fPtr); /* BHFARER */
system("pause”);

25

- R RTRRIELR - 175 HARA -
ESHBFM (TUR) - B -

a:BURAENS b HiRBENS r: B

ga: SIFARMNEE  eb: TIERBRAIN/E#

round: [B1& % test num: HEAZEL
A[100] ~ :FFHZ 100 ZCHBZ B A R 5%
B[100] ~ : 7 100 ZCHBLZ LR B FiA S
RL100] ~ 771 100 M Z AT &8
avg_sumA ~ avg_sumB ~ avg_ sumR: HCFEEI8

2. EEE AR
(1)@&&%%5@%

rand() : BRSO

rand()%3: HUR31% 2 BREC B FTRE S0, 1,2
if(r=1) :FIETR SRR » FE - HIBTRA
FEG1TC  BIRBAR LT B HIR08Q20 - B -

(z)ﬁﬁmgﬁg

rand %S HURS e R0 TR0, 1,2.3,4
=1 11 =) AEREHEAIRS R
o BIBERA T BERBAEITE » THIA0KD |
S R -

G)EBAPRIER » 40: p:% . r:§ . q:%
rand %6 BUR6H 2 8781 (ETAE150,1,2,3,4.5
if(r=l1)
{ IR AR 1T

MHEBAE 1T

else if(r==1 |l r==2)

CFfeetfards)
)
else if(r==3 Il r=4 || r==5)

U simassin
iR B S 1t



